
Restar de Ceros (G)Halle cada diferencia.
10000 10000 1000 10000- 2200 - 4866 - 420 - 9456

1000 1000 1000 10000- 675 - 510 - 348 - 6904
10000 1000 10000 10000- 7194 - 975 - 9400 - 5931

1000 1000 10000 1000- 730 - 508 - 579 - 860
1000 1000 10000 1000- 770 - 299 - 9950 - 18
1000 1000 10000 10000- 186 - 307 - 8584 - 7808

10000 1000 1000 10000- 8340 - 597 - 573 - 371
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Restar de Ceros (G) RespuestasHalle cada diferencia.
10000 10000 1000 10000- 2200 - 4866 - 420 - 94567800 5134 580 5441000 1000 1000 10000- 675 - 510 - 348 - 6904325 490 652 309610000 1000 10000 10000- 7194 - 975 - 9400 - 59312806 25 600 40691000 1000 10000 1000- 730 - 508 - 579 - 860270 492 9421 1401000 1000 10000 1000- 770 - 299 - 9950 - 18230 701 50 9821000 1000 10000 10000- 186 - 307 - 8584 - 7808814 693 1416 219210000 1000 1000 10000- 8340 - 597 - 573 - 3711660 403 427 9629
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